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DXVN DXTNOND PY IN L,AMON OUO5 1D MDYS NADIN .MDWLN YN Dy
DT OMXYN DXOM DMYP DY MNIAN SUMNNT OOWD NNSN DN NIVONND
OV D2 NPPLNND NONPNN NDONNN TONNN DNY ,D0MIYNY DOWNIN
' PV
- NI9D7YT 90103 PNO0TYT 190N DY DD NINNIN AVND DYS DY) OND
N NDYOYN DMIDNN NIV NYTARD N2 ,NNT DI90NN MW MIVYN NIO0VWD
: PPN WINT TIT MM 11910 590N TPOIN NN XOY IWYD 1t NN
43x47 : NONT

40+10=50 MIYYN NNNRD NIVY 90N .NX
40x50=2000 TNTIPN NIWYYA INSIND NN 219D .2
3x7=21 112 1% MTANRD M0 NN 919D )
2000+21=2021 271 2 OV MINSIND NN 12N .7
43x47=40x50+3x7 NNPA TONNN
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N2 PINA YNRNWN DMD0NN NN PI9)
43x47=(40+3)(40+7)
=40x40+40x7+40x3+7x3
=40x(40+7+3)+7x3
=40x50+7x3

68x68=60x70+8x2=4216 9D NI

STPODNN 20N MODITY NIV MNDNT XINDD DITRONNN YPad 1N
.5 N> N2 MTNRD NIOY DM9DNY 1D DOV

: PONYIN DNDYNN ,D’J”J’”bb)
(atb)(at10-pb)=

a?+10a+10b-b?=

a(a+10)+b(10-b)
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